
Please contact Purex additional support
ARM KITS

Find out more:      W purex.co.uk   |   T +44 (0)1405 746030   |   E  purex@purex.co.uk

120128

1x Reducer (40.5mm inner/outer diameter) (550265)
1x Reducer 54mm to 38mm valve to flexiarm (840112)

1x Nut insert (720600)
1x Knob knurled m4 (630305)
1x Stainless steel arm (570110)

38mm ø x 1.5m  

CONNECTOR MACHINE

120129

1x 650mm stainless steel arm (120192)
1x Reducer (40.5mm inner/outer diameter) (550265)
1x Reducer 54mm to 38mm valve to flexiarm (840112)

1x Knob knurled m4 (630305)
1x Nut insert (720600)

CONNECTOR MACHINE

38mm ø x 0.7m

Registered Office: Purex International LTD, Unit A, Saltgrounds Road, Brough, HU15 1EG, UK
Registered No. 5136616 England | VAT No. GB842 5025 49 | WEEE Producer Registration Number: WEE/CE0067TX
*Goods are subject to change

38mm ø Arms / Arm Kits

1 120150

1x Conical cowl 38mm (95 inner diameter) (840190)
1x Metal flexiarm (120183)

38mm ø x 1m  

YOURS PROCESS MACHINE

120151

1x Conical cowl 38mm (95 inner diameter) (840170)
1x Stainless steel arm (120183)

38mm ø x 1m  

YOURS PROCESS MACHINE

120178

1x Bench support & anti-static valve (840047)
1x Pen nib nozzle (840170)

1x 38mm stainless steel arm (570113)
1x Nut insert (720600)

1x Knurled thumb knob (630305)
1x Reducer 54mm to 38mm (840112)

MACHINEYOUR PROCESS

38mm ø x 0.36m  

120149

1x 38mm Arm 1m long (120183)
1x Bench support & valve (840047)

YOUR PROCESS MACHINE

38mm ø x 1m  

100040

1x 100mm pipe coupling male (540120)
1x Reducer 100mm to 80mm (540150)

2x 38mm steel arm (120149)
1x Dual manifold - aluminium (120093)

2x Clamp bench bracket (120180)
2x Delta cowl (840182)
2x Earth strap (105054)

6m x Flexihose antistatic (570042)
4x Machined cuff 50mm anti-static black (570211)

2x M4 external washer (730310)
2x Self tapping screws (700111)

YOUR PROCESS

MACHINE

38mm ø x 1m 3m

YOUR PROCESS

38mm ø x 1m 3m

100041

1x Dual manifold - aluminium (120093)
2x Clamp bench bracket (120180)

2x 38mm steel arm (120149)
2x Delta cowl (840182)
2x Earth strap (105054)

6m Flexihose antistatic (570042)
4x Machined cuff 50mm anti-static black (570211)

2x M4 external washer (730310)
2x Self tapping screws (700111)

YOUR PROCESS

MACHINE

38mm ø x 1m 3m

YOUR PROCESS

38mm ø x 1m 3m

100045

1 x 100mm pipe coupling male (540120)
1 x Reducer 100mm to 80mm (540150)

2 x 38mm steel arm (120149)
1 x Dual manifold - aluminium (120093)

2 x Clamp bench bracket (120180)
2 x Delta cowl (840182)
2 x Earth strap (105054)

8m x Flexihose antistatic (570042)
4 x Machined cuff 50mm anti-static black (570211)

2 x M4 external washer (730310)
2x Self tapping screws (700111)

YOUR PROCESS

MACHINE

38mm ø x 1m 4m

YOUR PROCESS

38mm ø x 1m 4m

100295ESD

2m x Flexihose antistatic (570042)
1x Clamped bench bracket (120180)

1x Pen nib nozzle 38mm (840170)
1x Conical cowl 38mm (840190)

1x Flexi arm only 1m long (120183)
2x Machined cuff 50mm anti-static black (570211)

2x Earth strap (105054)
4x M4 external washer (730310)

1x ESD kit fitting instructions (820521)
1x Bench support collar & valve anti-static (840047)

2x Earth strap screw (700316)

YOUR PROCESS MACHINE+

38mm ø x 1m 2m



Please contact Purex additional support
ARM KITS

Find out more:      W purex.co.uk   |   T +44 (0)1405 746030   |   E  purex@purex.co.uk
Registered Office: Purex International LTD, Unit A, Saltgrounds Road, Brough, HU15 1EG, UK
Registered No. 5136616 England | VAT No. GB842 5025 49 | WEEE Producer Registration Number: WEE/CE0067TX
*Goods are subject to change

100299

1x 50mm - 57mm x 2.0m (120117)
1x Clamped bench bracket (120180)

1x 50mm arm with no end fitting (120187) 
 1x Bench support collar & valve anti-static (840047)

1x Clear hood cowl (840090)

YOUR PROCESS FLEXIHOSE

50mm ø x 1m

100298

1x 50mm - 57mm x 2.0m (120117)
1x Clamped bench bracket (120180)

1x 50mm arm with no end fitting (120186) 
1x Bench support collar & valve anti-static (840047)

YOUR PROCESS FLEXIHOSE

50mm ø x 1m

1x 50mm - 57mm x 2.0m connection kit (120117)
1x Clamped bench bracket (120180)

1x Pen nib nozzle 38mm (840170)
1x Conical cowl 38mm (840190)

1x Flexi arm only 1m long (120183)
1x Bench support collar & valve anti-static (840047)

YOUR PROCESS + FLEXIHOSE

38mm ø x 1m

100295

120199

1x Reducer (40.5mm inner/outer diameter) (550265)
1x Nut insert (720600)

1x Reducer 54mm to 38mm valve to flexiarm (840112)
1x Knob knurled m4 (630305)

1x Stainless steel tube 50mm long (120199A)

50mm ø x 1m  

CONNECTOR MACHINE

120188

1x Flexihose griplock (570115)
1x M4 nut (720600)

1x Thumb screw (630305)

50mm ø x 1m  

CONNECTOR MACHINE

120186

1x 50mm arm not fitting (120188)
1x 0.17m x Gasket edging (850010)

50mm ø x 1m  

CONNECTOR MACHINE

120185

1x 50mm arm no fitting (120188)
1x Conical cowl (840194)

50mm ø x 1m  

YOUR PROCESS MACHINE

120187

1x 50mm arm no fitting (120188)
1x Flexible hose cuff (570203)

CONNECTOR MACHINE

50mm ø x 1m

38mm ø Arms / Arm Kits
100294

1x 50mm - 57mm x 2.0m connection kit (120117)
4x Bench bracket screw (700315)

1x Screwed bench bracket (840200)
1x 38mm arm fixed with pen nib (120151)

1x Bench support collar & valve anti-static (840047)

YOUR PROCESS MACHINE

2m38mm ø x 1m

100295L

1x 38mm arm fixed with conical cowl & light (120750)
1x 50mm - 57mm x 2.0m connection kit (120117)

1x Clamped bench bracket (120180)
1x Bench support collar & valve anti-static (840047)

YOUR PROCESS MACHINE

38mm ø x 1m 2m

100297

1x 50mm - 57mm x 2.0m (120117)
1x Clamped bench bracket (120180)

1x 50mm arm fixed with conical cowl (120185)
1x Bench support collar & valve anti-static (840047)

YOUR PROCESS FLEXIHOSE

50mm ø x 1m

50mm ø Arms / Arm Kits

100293

1x 50mm - 57mm x 2.0m connection kit (120117)
4x Bench bracket screw (700315)

1x 38mm arm fixed with conical cowl (120150)
1x Bench support collar & valve anti-static (840047)

1x Screwed bench bracket (840200)

YOUR PROCESS MACHINE

2m38mm ø x 1m



Please contact Purex additional support
ARM KITS

Find out more:      W purex.co.uk   |   T +44 (0)1405 746030   |   E  purex@purex.co.uk
Registered Office: Purex International LTD, Unit A, Saltgrounds Road, Brough, HU15 1EG, UK
Registered No. 5136616 England | VAT No. GB842 5025 49 | WEEE Producer Registration Number: WEE/CE0067TX
*Goods are subject to change

100292

1x 50mm - 57mm x 2.0m connection kit (120117)
1x Clamped bench bracket (120180)

1x 50mm arm with cuff fitted (120187)
1x Bench support collar & valve anti-static (840047)

1x Large clear hood (840116)
1x Flexihose cuff black (570205)

YOUR PROCESS FLEXIHOSE 

50mm

120204

1x Metal flexible hose (570119)
1x Conical cowl (840194)

1x Knob knurled m4 (630305)
1x Reducer 54mm to 50mm reducer (840118)

1x M4 nut (720600)

50mm ø x 0.75m  

YOUR PROCESS MACHINE

100303

1x 50-57mm x 2m connection kit (120117)
1x Clamped bench bracket (120180)

1x Valve anti static (840047)
1x Conical cowl (120204)

YOUR PROCESS FLEXIHOSE

50mm ø x 0.75m  

50mm ø Arms / Arm Kits

100181

`1x 75mm metal flexible arm 1.2m long (120707)
1x Conical cowl (840114)

75mm ø x 1.2m

YOUR PROCESS MACHINE

120707

1.2m x Swan tube (570301)
1x Support tube flexiarm (120101)

2x Flexi coupling (840242)

75mm ø x 1.2m  

CONNECTOR MACHINE

100182
75mm ø x 1.5m

YOUR PROCESS MACHINE

1x 75mm x 1.5m connection kit (100185)
1x Plenum cowl - black (120702)

75mm ø Arms / Arm Kits


